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1. What is the solution of

T
1.:-31{1—{1—(1—:3) } ] =17
(a) x= 100
(b) x=10
c) x=1
(d) x=0

. If A1s an integer and o, [ are the roots
of 4.x2—16x+-§-=ﬂ suchthat < e<2

and 2 < <3, then how many values
can A take ?

(a) 3
(b) 9
(c) 14
@ 15

6" +7° +8* +9% +10°
NT+4\3 =44 4243

- What 1s equal

o ?

(a) 330

(b) 340

(c) 355

(d) 366

. If x?'=_y+z, y2=z+'x and zi'=x+y,
then what is the value of

S 3 T
x+1l y+1 z+1
(a) -1

(b) 1

(c) 2

d) 4

7
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5. What would be the maximum value of Q

in the eguation
SPO-3RT+208=11147

{a) 9
(b) 8
tel 5
(d) 4

. A is a set of positive integers such that
when divided by 2, 3, 4, 5 and 6 leaves

the remainder 1,2,3,4 and 5 respec-
tively,. How many inlegers between
0 and 100 belong to the set 4 ?

(a) Mo integer
(b} One
(c) Two
{d) Three

. In an examination, a student was asked

to divide a certain number by 8. By
mistake he multiplied it by ¥ and got the
answer 2016 more than the correct
answer, Whatl was the number 7

(a) 252
(b) 256
(c) 258
(d) 260

. In the quadratic equation x>+ ax+h =0,

a and b can take any value from the set
{1, 2, 3, 4}. How many pairs of values
of a and b are possible in order that the
quadratic equation has real roots ?

(@) 6
(b) 7
(c) 8
(@ 16



1. Ingm{l—{l—{l—xz)_r}»—J] g

B ?
(a) x=100
b =10
{c) x=1
(d) x=0

LA A wwh iE R R, f el
4x2—lﬁx+%=[} F A W OEER 2
l=a<23R2<p <38 AT Fadwm
oo € ?

(a) 3

) 9

(c) 14

@ 15

62 +72 +8% +9% +107
©J7+43 —y4+243
(a) 330
(b) 340
(c) 355
d 366

fored R & 7

_Eﬁx2=y+z__}’i='+x3ﬁ'(zz=x+_}=%,
Ly Ll ramant e
xz+1 y+1 z+1 K

(a) -1
() 1
() 2
() 4

5. TEEE SPO + 3RT + 208 = 1114% Q

srftrRas W AT B0 7
(a) 9
(b) 8
{c) 5
(d) 4

. A T AT quilet, W1 2,3,4, 53R 6/

frafom & w9 w @ 1, 2, 3, 4

AT 5 Swwe BEd €, T UF G4 @ |
WA A # 0 F 100 F =4 % A gl

i ?

(a) I iR el
(b) UH

© @

(d) =t

. foreht v #, v P & o R

wem &1 84 famfem o & fort gt 7 |
et & g s At 8 o = i s
FoR HE I @ 2016 wfies ww e | 9w
T T 497 7

(a) 252

(b) 256

(c) 258

d) 260

. T oot P2+ ax+ b=0H g 3K b,

weay {1, 2,3, 4) @ forett ot w =t |
v § | o 3R b % AW F U TR R
v & fomes forg fyeme e & 9@
et 8 ¢

(@) 6

(b) 7

(c) 8

(@ 16
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9.

10.

11.

12.

The sum of the squares of two posilive
integers is 208. If the square of the larger
number is 18 times the smaller number,
then what is the difference of the larger
and smaller numbers 7

(@) 2
® 3
(c) 4
d) o
Let 4 ={7, 8 9, 10, 11, 12} and
B={7, 10, 14, 15}. What is the number
of elements in (d-8) and (B—-4A)

respectively 7
{(a) 2 and 4
(b) 4 and 2
(c) 2and2
(d) 4 and 4
A boy saves Rs. 465 daily. What 15 the

least number of days in which he will be
able to save an exact number of rupees ?

(a) 10
(h) 20
(c) 21
(dy 25
Two men, 4 and B run a 4 km race on a
course (-25 km round. If their speeds are

in the ratio 5:4, how ofien does the
winner pass the other 7

{a) Once
{b) Twice
{c) 'Thrice

(d) Four times

SDC-S-TRD - A

13.

14.

15.

16.

Which one of the following rational
numbers has non-terminating and repeat-
ing decimal expansion 7

@
® 2
(c) %
@ -

If @ and # are the two zeros of the
polynomial 252 — 15x + 2, then what is
a quadratic polynomial whose zeros are
(2" and (287 ?

(a) x*+30x+2

(b) Bx* —30x+ 25
() Bx' —30x
(d) x*+30x

What is the remainder when 2'™ is
divided by 101 ?

(a) 1
(b) 11
(c) 99
(d) 100

In an office, one-third of the workers are
women, half of the women are married
and one-third of the marmried women
have children. If three-fourth of the men
are married and one-third of the married
men have children, then what is the ratio
of married women to married men ?

(a) 1:2
by 2:1
{c) 3:1
(d 1:3



9. T YATCHE TUIHI o A1 T AWF 208 |

10.

12.

af T T T BE T W 18T €,
Tt &t afft ST Tt & s | @ 7
(a) 2
(b) 3
(© 4
@ 6

o G 4 = {7, 8,9, 10, 11, 12} 3

B=1{7,10,14,15} & | (4 - B) &% (B—A)
7 arEaat St gE whY w7

(a) 23R4
(b) 43R2
€ 23Rk2
(d) 4 a4

T Wewl Wiafed 4.65%. =TT § | AT
a8 Aa Hed #141 w9, fAd 2w g
Tt &t T == T '

{a) 10

(b) 20

(¢} 21

() 25

3 ArEd, 43 BUS 0-25 km & TR
Tq T/ 4 km S 5E @4 & | 7 s
TRIR T 5774 5 : 43, T Sta = g
A ol = i Fraean @ 7

(a) TH AN

(b) F AR

(¢) i =R

(d) ¥R =R

13, Feefrfias # & 99 & ©v e den

FFEE AR G s SER dm

. -% ?
® o
® =
© =
@

14.

15.

16.

aft 75U 255 — 15x + 2F 51 FF a IR
p €, o =% fimma agos w2 fres
I (2a) AR (25)7 & 7

(a) ¥ +30x+2

b) &x*-30x+25

(c) 8x' —30x

(d x*+30x

& 2'% Fi 101 % Frwifim e s, &
S T B 7
{a) 1

(b) 11

(c) 99

(d) 100

whiemstt 7 & amndt whiemd Fartea # ok
frenfia wfeenai # 8 ve-faer Al &
w=4 ¢ | Ifg qeat # ¥ d=-=EE ey
feenfea Bt sk ws-fomrd frenfea geat &
=1, o1 Fafe wfeena = Ftm
qe§l & |19 1 HYAE @ ?

(a) 1:2

b) 2:1

(c) 3:1

(dy 1:3
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17.

18.

j Lt

A can do 50% more work than B in the
same time. B alone can do a picce of
work in 30 hours. 8 starts working and
had already worked for 12 hours when
A joinzg him. How many hours should
B and A work together o complete the
remaining work 7

(a) 6 hours

{(b) 12 hours
{c) 48 hours
(d) 7-2 hours

When the speed of a train 18 1nereased by
20%%, it takes 20 minutes less to cover
the same distance. What is the time
taken to cover the same distance with
the orniginal speed ?

(a) 140 minutes
{b) 120 minutes
(c) 100 minutes

(d) B0 minutes

A candidate scoring x% marks mn an
examination fails by & marks, while
another candidate who scores y% marks
gets b marks more than the minimum
required pass marks. What is the
maximum marks for the examination ?

@ 100(a +b)
=)
100(a - b)
(b} TLT
(o) 100 +D)
V=x
@ 100a-b)
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20.

21.

22.

If p and q are the roots of X'+ px + g =0,
then which one of the following is
correct 7

(a) p=0orl

{(b) p=1 only

c) p=-2o0r0

(d) p=-2 only

The cost of 2-5 kg rice is Rs. 125. The

cost of 9 kg rice 1s equal to that of 4 kg
pulses. The cosat of 14 kg pulses i3 equal
to that of 1-5 kg tea. The cost of 2 kg tea
is equal to that of 5 kg nuts. What is the
cost of 11 kg nuts ?

(a) Rs. 2310
(b) Rs. 3190
(c) Rs. 4070

(d) Rs. 4620

Which one of the following is correct in
respect of the number 1729 7

(a) It cannot be written as the sum of
the cubes of two positive intsgers

{(b) It can be wrtien as the sum of the
cubes of two positive integers in
one way only

(c) Tt can be written as the sum of the
cubes of two positive integers in
two ways only

{d) It can be written as the sum of the
cubes of two positive integers n
three ways only



17.

18.

19.

e I BAG H A, B T 50% 3ifer e

AT B | B Al U W R 30 W H Y
o FFA 2 | B & E a2, 3R I6F

12 92 7% = %% 71 F 95 A 366 719
firere. i @t el @ | 5 gn = w
u e & fo 4 o B fera w2 Frere
& FA 7

(a) 6 H

(L) 12 =

(c) 48 =

(d) 72 %

et ek LISl 1 9T 20% At &, A 7w
T T A H 20 fire 5 et @
Iy aretad e @ S G g A A
=04 # feraen wHm = 7

(a) 140 fimz

(b) 120 Pz

() 100 e

(d) 80 iz

Tt witen 7 v Awmdl 1% 3 WIH HAT

2 3 o I T B AR, TS GE
el =Y % 3T W FAT 9 e
HrATIE T A F b 3F it o el
# | witsm & Afteaw @ wam E 7
100(a +b)

x=y
100(a ~h)

x+y

(2)

(b)

100(a +b)
y=x
100(a - b)

=y

(c)

(@

20, 1% P+ prtg=0 % 54 p 3R g &, A

21.

21,

frftfmd s o ad 2 ?
(2) p=0Fw=ar |

(b) heel p= 1

(c) p=-234941 0

(d) Fae p=-2

2-5 kg =T 1 FRT 125%, 2 | 9kg FTEH
&t diwd 4 kg T T o F w2
14 kg BT &1 FIHT 1-5 kg T ST 9t &
FCEL | 2 kg A4 &I =1 T HmEd Skg
7 (Fier %) F T 8 | 11 kg 72 !
Frra T 8 7

(a) % 2310
b) % 3190
(¢) & 4070

(d) % 4620

wE 1729 % Haw ® Frafafas & @
@I BT U FUT e 7

(a) A S AT U] & I Ak
w9 ¥ 7El fora = oA 2

(b) A T UATCHF TUHRT F T & 911
w=y 1 e v B uwr @ fear
AT ®

(c) = ol geens qoret = & A E
=1 § Fae of ¥R 9 o 5 gwan
g

(d) T A g gt & WAl % A o
w0 # Fad i wer o foran 31w
1
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23. A shopkeeper increases the cost price of

24,

an item by 20% and offers a discount of
10% on this marked price. What is his
percentage gain 7

(a) 15%
(b) 12%
(c) 10%
(d) 8%

There are two numbers p and g such that
their LICT is 1. Which of the following
statements are correct ?

I. Both p and g may be prime.

2.. One number may be prime and the
nther composite.

3. Both the numbers may be com-
posite,

Select the correct answer using the code
given below :

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d) 1,2and3

. What 1=
T e - R
I+=t—+ [+t ... +
‘j 12 52 \’ 22 42
P '
20072 20082 caval te?
(a) 2008——_
2008
b) 2007-—_
2007
o
() 2007 ———
2008
) 2008——

2009

SDC-5-TRD - A

26.

27.

28.

A person can row downstream 20 ki m
2 hours and upstream 4 km in 2 hours.
What is the speed of the current ?

(a) 2 km/hayr
(b} 2-5 km/hour
(¢) 2 km/hour
{d} 4 km/hour

Consider the following statements in
respect of positive odd integers x and y :
. x* +9* is even integer.
2. ¥+ is divisible by 4.

Which of the above statemenis 1s/are
correet ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither | nor 2

What are the roots of the equation

I

2.r+2 I?ﬁ - g '?

3\
(a) 2, l—Eug[EJ

oy
(b 2, l—fagLEJ

log 3\!.
log2 )

€ 2,1 [

(d) 2,1 —.riﬂgz]

| log3



23.

24.

25.

U GHFGR U A w5 # 20%
i wea © At sueh sifesa =1 10% Hi
Z BT T | FHI wiqerd 9Te e 7
(a) 15%

(b) 12%

(e) 10%

(d) 8%

31 et p i g @ vER € fE o

[CE, | & | frafefas & & 59 @ 5

T 2 v

I.pﬁ?qﬁﬁwﬁﬁﬁg

2, T Wl W 3fi gt wied €l
LETIR

3. BT TEATE AT B whdl ©

A fo T HE W W FOAE I

ﬂm:

(a) e | Al 2

(b) el 2 #lE 3

(c) Fae 1 3T 3

d 1,283

1 1 ’ T :
Tt [

\
1 1
\F + =+ — feak
2007 2008

1
2008———
@) 2008

|
2007 =t
®) 2007

© 2007-——
2008

Crac oA

1
dy 2008—=—-—r
@ 2009

26. T =ATTH €T S (FEETE) 2 W A

27.

20 km E @a1 & 3% &R & wiagd 2 6
H 4km 77 W S | U R AE TR 7
[Q] 2 km/eT

(b) 2-5 km/=T

(¢) 3 km/9T

(d) 4 km/ser

werers faem gt ¢ sk p F forg
Feperfiafiae ot gx f=mr Hif

L x4y T gt 2

2. F4+44 4% e 2

| aefw T d A S a /A wE /R

28.

(a) el |

(b) T2

(c) 13 2eH
(d 7 atL+ €2

—e
wler 2542, 2751 =9 F YT W E 7

@ 2 1—.@{%}
® 2,1- .ragE]

() -2 l—rm‘g?]
" \log2

@ -21- !ngl]
| log3
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2%,

30.

31.

3.

There are twelve friends A, B, C, D, £,
F, G H I J K and L who invested
maoney in some business in the ratio of
23S e g fageaa o b 12
and the duration for which they invested
the money 15 in the ratio of
2 R 3 T o S B RO T B 8 W R
respectively. Who will get the maximum
profit at the end of the year?

{a) F only

(b} © only

(c) Both F and G

(d) Neither F nor

224 4% 487 1+ 4% 4 2% §5- divisible
by which one of the following integers ?
(a) 3

(b) S

{e) 7

(d)y 11

If2p+3q =12 and 4p” + dpg — 3% = 126,
then what is the value of p+24 ?

(a) 5
ﬂ
4
2_5
4

99
16

&)
()
(d)

The number of digits in 3" is » and it i
given that log,, 3 = 0-4771. What is the
value of n ?

(a) 13
(b) 14
(&1 13
(d) 16

SDC-S-TRD - A
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33.

34.

35,

36.

What is the unit digit of 7°°?
(a) 9
by 7
{c) 6
(d) 3

If 4x + 3a = 0, then what is the value of

1&'2+M+£J: xz-dx+a2

2t —g? 2 +a

4

Tl

7

(a)

()

12

7a
24
Ta

(c)
()

Incomes of Mahesh and Kamal are in
the ratio 1: 2 and their expenses are in
the ratio 1:3. Which onc of the
following statements is correct ?

(a) Mahesh saves more than
K.amal saves

Savings of both of them are equal

Kamal saves than what
Mahesh saves

It is not possible o determine who
SdVES mMore

what

(b)
(c)

more

(d)

A and Y entered into partnership with
Rs. 700 and Rs. 600 respectively. After
3 months X withdrew 2/7 of his stock
but after 3 months, he puts back 3/5 of
what he had withdrawn. The profit at the
end of the year is Rs, 726, How much of
this should X receive ? '

(a) Rs. 336

(b) Rs. 366

(t) Rs. 633

(d) Rs. 663



9. A, B, C,D, E.F, G H ILJK#AR L
awe fim 2, ety et sw & s
1:2:3:4:5:6:?:5:9:1():11:12%
s fa wen ot fo arafin & R
T T SHe] AqaTd 12:11:10:9: 8¢
7:6:5:4:3:2:1 Bl FI@E
siftrere = Torg W B 2

(a) &&= F

(b) Had G

(¢) THIF 3% G

@ AMFAHG

-30.

31.

122

2122 4 457 4 g2 4 4% 4 01 foefrfm w
foper qurier & fesmo 2 7

() 3

(b)

5

€ 7

(d)

11

afz 2p+3g=123R 4p’+ 4pg - 3¢° =126
g pryWAR TR ?

(a) 5

(b)

- (e)

32.

(d)

21
4

25
4
=

16

3% 3 sl 1 o T @ i ae foa 2
& log, 3 =04771 R I nFIAH FE 7

(a)
(b)
(c)
(d)

13
14
15
16

11

KN

34,

35.

36.

7VF R A TR 7
(@) 9
by 7
(c) 6
(d) 3

afe dx +3a=0%, T

¥2+ax+r:2 .'J.’:2 ax+a2
: 3 3 - = T 1 AH
X - i +4a

T 7
4
(a) —%

7
a

(b)

_32
Ta

24

Ta

(c)
(d)

we Al @ ) o 1:2 F arga

2, o oAF = 13 F e H €

Pfrafafte =i A e sl a g et 2 7

(a) Tes Y T, FAA F) T99 ° HF
2

(b) FA ZHI H TG TWER ©

(c) =HE =Y =94, ey F 799 § AF
2

(d) @e ou = aua el g G T afu
a9 FAT o

X 3 ¥ @ &, 700 37 6. 600 & g
T AR I T € | ot e w5l X
s w2Te o 2/7 TereRrer v @ sl feemal
T W & 3/5 A W 91 (| S
TeATe | T A AW 7268 | T
# Foramn Y =t faemn =rhe ¢

(a) ® 336

(b) & 366

(¢) & 633

(d) % 663
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37. A tank can be filled by pipe X in 2 hours

38,

39.

40,

(d)

and pipe ¥ in 6 hours. At 10 a.m. pipe X
was opened. At what time will the tank
be filled if pipe ¥ is opened at 11 am. ?

(a)
(b)
(c)
(d)

12:45 hours
3:00 pomn.
11:45 a.m.

11:50 aamn,

A tram is travellmg at 48 km/'hour
completely crosses another train having
half its length and travelling in opposite
direction at 42 km/hour in 12 s. It also
passes a railway platform in 45 s, What
15 the length of the platform ?

(a) 600 m
(b} 400 m
(¢) 300 m
(d) 200 m

The speeds ol three cars are in the ratio
2:3:4. Whal 1s (he ratio between the
times taken by these cars to travel the
same distance ?

(a) 4:3:2
) 2:3:4
{c) 4:3:6
(d) 6:4:3
If the mean age of combined group of
boys and girls is 18 years and-the mean
of age of boys is 20 and that of girls is

16, then what is the percentage of boys
m the group ?

(a}) 60
(b) 50
(c) 45
40

SDC-S-TRD — A
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41.

42,

43.

44,

The area of lour walls of a room is
120 m’. The length of the room is twice
its breadth. If the height of the room is
4 m, what is area of the floor ?

(a) 40 m*

(b) 50 m’

(€) 60 m?

(d) 80 m’

If a square of side x and an equilateral
triangle of side y are inscribed in a
circle, then what is the ratio of x to y ?

:
® |3

.
® |z

(©) %

N2
(d) 3
The ratio of the curved surface area to
the total surface area of a right circular
cylinder is 1 : 2. If the total surface area
is 616 cm’, what is the volume of the
cylinder ?
(a) 539 ¢m’

. (b) 616 cm®

(c) 1078 em’
(d) 1232 cm’

A cubic metre of copper weighing
9000 kg is rolled into a square bar 9 m
long. An exact cube is cut off from the
bar. How much does the cube weigh 7

(a) 1000 kg
1000
(b)

— kg
(c)

3
300 kg
(d)

S0
— k
3 B



37

38.

39.

40.

uF 7, TRy XY F 2 A iR T v A
6 W& # AT W aed! & | Wie: 10 =t 9Ty
X @ T | 7 R e e ot afs
uTEg ¥ Wi 11 =9 glen A g 7

(a) 12:45 SI98T
(b) 5:00 HHIE
(c)' 11:45 TG
(d) 11:50 T58

T LETEL T 48 km/ 521 F 5 TR B, 39T
e 1 st s i uw e =,
frodta R # 42 km/T21 & w9 @ 2,
125 # 9l e & TRt € | 98 O @
vetehTe # AT 45 5 H I | | wHewnt &
waTs feerit & 7 3

(a) 600m

(b) 400m

{c) 300m

(d) 200m

AR Rt T F ITE 2:3: 42 |
TFR TRT W FHE gLt ol i H w0 il
WHA &1 I 4TS

(a) 4:3:2

(b) 2:3:4

(c) 4:3:6

(d) 6:4:3

afs g 3% wefhal & uw v aqe $
a1 Ag 1899 # At wEwi 6t sy W
H1eg 20 3R il o AT 167,
dtl aHe # el I wftemar = @ 7

(a) 60

(by 50

Q) 45

(d) 40
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41.

42.

43.

44,

U FHe TR G| 1 aEEd 120 m?
% | Y ol WS gt Higr Y gEi R
aft st Y = am B, A1 Bl 7 e
TR 7

(@) 40m’

) 50m°

(¢) 60m’

(d 80m’

afy sen x & o W AR Iy T OE
wHag Frspt, ush ga # vada Bl 9 €,
AT x ¥y T A TR ?

o

© :%-
7z

=

ek T TR S o 95 98 SR AR g
T8 AFe F I 1128 | ge e
EE9e 616 cm® &, A1 Sed &7 arEad ¥4
g7

(a) 539 cm’

(b) 616 cm’

(c) 1078 em’

d) 1232cm’

T F U uA Hier W, e e
9000 kg &, 9 m waTs i U TiER R
# Afee e W 2 | US B W W
Tl & H1e1 I € | T A A
@ ?

(a) 1000kg

® 5 ke

(€©) 300kg

(d) %'}kg

A — SDC-S-TRD



45.

46.

47.

Into a conical tent of radius 8-4 m and
vertical height 3-5m, how many full
bags of wheat can be emptied, if space
required for the wheat in each bag is
196 m' ?

(a) 264
(b) 201
(c)
(d) 105

132

Let ABC be a right angled triangle with
BC=5c¢mand AC=12 cm. Let D be a
point on the hypotenuse A8 such that
ZBCD=130° What is length of CD 7

{a) % CI
® 5 om
(c] % cm
® 2

Twa circles touch externally and sum of
their areas is 1307 em® and the distance
between their centres 15 14 cm, What is

the difference in the radii of the circles 7.

(a) 5 cm

(b} 6 cm

{c) 7 cm

(d) 8 cm

SDC-5-TRD - A
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48.

49,

50.

51.

In a circle of radius 2 units, a diameter
AR intersects a chord of length 2 units
perpendicularly at P. If AP > BP, then
what is the ratio of AP to BP?

(@) 3++/10;3-410
(b) 3++8:3-48
() 3+43:3-43
(d) 3:4/3

What is the number of rounds that a

wheel of diameter < m will make in

traversing 7 km 7 "
(a) 3300
(b) 3500
(c) 4400
(d) 4900

A building is in the form ol a cylinder
surmounted by a hemispherical dome on
the diameter of the cylinder. The height
of the building is three times the radius
of the base of the cylinder. The building

conlains 6?% m’ of air What is the
height of the building ?

(a) 6m

(b) 4m

(c) 3m

(d) 2 m

The radius of the base and the height of
a solid right cireular cylinder are in the
ratin 2 : 3 and its volume is 1617 cm’.
What 15 the total surface area of the
cylinder ?

(a) 462 em’

(b) 616 cm’

(¢) 770 em’

(d) 786 cm’



45. T A weg, e frem g4 m o
FoATR ST 3.5 i ®, W g 3 e W

a9 @reft el o v B, afg ves A9 A

% % T4 1:96 m® =T it rEwEsdl € 7

(a) 264

(b)
(c)

- (d)

201
132

105

406.
%l BC=5cm &K AC=12cms | A
Ffer =l AR w2 s forg Do vER 2 T
ZRCD=30°% | CDH F=R 7§ ¢

(a) l—ﬁ{_: cm

17
— cm

120
— cm
S5+1242

(c)

120

————= I

d
@ 541243

47. = 37 79 W e Fa € AR I

el B AR 1307 om? #, SR I
el & s gl 14em B | TR H
Fremat w AR a2 7

(a) 5cm
(b)
(c)

(d)

i cm

7 cm

& om

w difn 6 = wem o ABC ©

15

48, 337 &I Brea & UF 79 W, =E 4B,
2 =T Fal U ST R PO e vl
Far e | afe AP>BP R, AP FIBPE
AT FT R 7
(@ 3++10: 3-410
B 3+8:3-48
ic) 3+44/3:3-43
@ 3:43

49, I L I HEAT 1 E, T 2 m =
uw afEn 7 km & @ T FRH % WU
T
(a) 3300
(by 3500
(c) 4400

(d) 4900

50, U TARE ¥ % AL H 39 UK & 5
A T A W gl [E @R |
oy & FATE, der & e i B
T T R | FRA H 67 m' R
ARE f FAE R 7

{a) 6m :

(b) 4m

(c) 3m

(d)

51. TF 4 wageie do4 & anar $it frem
AR ZuHT FATE W A 2:3 }, AR
HF A 1617 em® 2 | <ol &1 FA
TEE GTE T E 7
(a) 462 cm’

(b) 616cm’
(¢} 770cm’
(d) 786 cem’

2 m

A — SDC-S-TRD



52,

54.

35.

The cost of painting a spherical vessel of
diameter 14 ¢m is Rs, 8008, What is the
cost of painting per sguare centimetre ?

(a) Rs.8
(b) Rs. 9
(e} Rs. 13
(d) Rs. 14

« II'a guadrilateral has an inscribed circle,

then the sum of a pair of opposite sides
eguals

(a)
(b)

Half the sum of the diagonals
Sum of the other pair of opposite
sides

(c)
(d)

Sum of two adjacent sides

MNone of the above

A circle and a square have the same
perimeter. Which one of the following is
correct 7

(a) Their areas are equal

{(b) The area of the circle 15 larger

{c)

g
The area of the square is 3 tirmes
area of circle

(d)

The area of the square is = times
area of circle

A drinking glass of height 24 em is in
the shape of frustum of a cone and
diameters of its hottom and top circular
ends are 4 cm and 18 em respectively, If
we take capacity of the glass as mx em’,
then what is the valuc of x 7

(a) 824

(b) 1236
(c) 1628
(d) 2472

“SDC-S-TRD - A —
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56. In an  equilateral (nangle another

57.

59,

equilateral triangle 1s drawn inside
Joming the mid-points of the sides of
given equilateral iriangle and the
process 1s continued up to 7 times. What
is the ratio of area of fourth triangle to
that of seventh triangle ?

(a) 2561

(h) 128 :1

{c) 04 :1

ey 162 1

Ramm water from & rool 22m=x= 20m
drains into a cylindrical vessel having
diameter of base 2 m and height 3-5 m,
If the vessel iz just full, what is the
rainfall 7 :

{(a) 3-5ecm

(b} 3 cm

(c) 2:5cm

(d) 2 cm

. The height of a cone is 60 ¢cm. A small

cone is cut off at the top by a plane
parallel to the base and its volume is
ﬁ the valume of original cone. What is

the height from the base at which the
section is made 7

(a)
(b)
(c)
(d)
If two tangents inclined at an angle 60°

are drawn lo a circle of radius 3 ¢m, then
what is the length of each tangent ?

15 cm
20 cm
30 cm
45 cm

(a) 31.,'5 cm

(b) +3cm
{c) 6 em

(d) 2+/2 em



31.

53.

54.

55.

14 co 29 % TF Meg 9T 97 FEmd
A 6l e €. 8008 B | wfer wf dede
el F fl ge g & 2

(a) % 8

(k)
(e)
()
afs o TS T o R, @
YETSAT o U I FATH ST

(a) Feevi % 0 =1 s

(b) LG STIAT K T T AN
(c) & 3T Tl 1 THTEA

(d) I F H HIE A

T F9 R UH F H T e #
frrmferfas & & & w1 0F W@ R

(a) TTF GFFA =T T
(b) o 1 Ee we

(c) aﬁmﬁﬂqﬂ,qﬁﬁs%ﬂwm%ﬂm

#
(d) = 1 &, g & EESe T I
#

g+ =1 U Fema foedht 391 24 cm 2 |
it 55 F foms & soR =1 8, =%
Fraet st st gemeR, fiRl w6 = e
4em 3R 18 cm® | 7y fireme s
nxcm"%.?ﬂ'xﬂ:‘fﬂ'l?l?m%?

(a) 824

®) 1236

(c) 1628

(d) 2472

T
.13
T

17

56.

s7.

58.

59.

u T P & sree, o v gmag
Toreget st el < weafarga =0 wiled wy
T oEe A=t s s g, s
vl 7 am & st & | N B %
gEel 1 s B & seEwd 8
AAEE 7
(a) 256:1
(b) 128 :1
(c) 64:1
(d) 16:1

22111!20:11@[%@?'&@‘3?[?!ﬁ'lm
W % AR UH 3-5m S9E 99 UH
sadtEr yE 1 firar 2 | o o= Sm-a
o oW T R, A et et e 2 v

{a) 3-5cm

k) 3cm

{c) 2-5¢cm

{(d} 2cm

T o ST 60cm B | TE AR F
AT TF T § THeh 919 92 T DT 9
HTET AT B, R THHT HEEA TH 6F &
ST T & | TR T8 FATd R
@l TR e T g

(a)
(b)
(c)
(d)

afg 60° % vor v gt g 2 et et
Eﬁicmﬁ@ﬁ_ﬁﬂﬁﬂ?ﬁﬂﬁﬁﬂ

TR =TT ®, o wedsn eqsf L@r i ward
TR F 3

15¢cm
20cm
A0 om
45 cm

(a) 33 em

) +3em

{c) 6cm

(d) 2-.,5 cm

A - SDC-5-TRD



60. What is the volume of a sphere of racus
Jem ?

(a) 36mem’
(b) 187 cm®
(c) 9mcm

(d) 6xom’

61. The sides of a triangle are given by
Ja? 157, et 442 and (b+¢) where
a, b, ¢ are positive. What is the area of
the triangle equal to ?

(@) \l"a_z+;z +§

\ﬂlalhz +hzc2 -+ (:P'ri‘2

(b) >

alb +c)

(€) 3

J3(a®? +B2* +c?a?)
2

(d)

62. What is area of largest triangle inscribed

in a semi-circle of radius » units 7
(a) ¢ square units

(b) 2+* square units

(c) 3 square units

(d) 4+ square units

63. The diameter of the front wheel of an
engine is 2x cm and that of rear wheel 1s
2y em. To cover the same distance, what
iz the number of umes the rear wheel
revolves when the front wheel revolves

n bmes 7

SDC-S-TRD - A
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(a) x%
(B =
© =
@ 2

I'or the next three (03) items that follow :

A tent of a circus i1s made of canvas and 1s in
the form of right circular cylinder and right
circular cone above it. The height and
diameter of the cylindrical part of the tent are
5Sm and 126 m respectively. The total height
of the tent is 21 m.

64. What is the slant height of the cone ?
(a) 60 m

(b) 65m

{c) 68 m

(d) 70 m

What is the curved surface area of the
cylinder ?

(a) 1980 m*

(b) 2010 m’

(c) 2100 m*

(d) 2240 m*

65.

How many square melres of canvas are
used 7

(a) 14450
(b) 14480
(c) 14580
(d) 14850



60. 3 ¥ e A wF e w0 sraan e K

g7 (a) r

3 o o2
e

® o o %

61, Pt P 1 wmat W e 107, @ 3

Vel +a? & (b + o) gra =aen fwm _
®, el a, b, ¢ AT & | P o S aet e (03) et & forg @ e By

WW%? e
T LT 1 T S T EA R | A8 e
@ Jaltblic® gt e 3w 3 8, o g e
% S & | wr ¥ SR AW S ek
0 S L R ) | FHA Sm AR 126 m T | T Y FA
() a“h +bzc +etal mZImgl
© a(b+c) 64. wig o faeedt dend feraeit 2 7
. &) 60m
e T (h) 65m
@ \{3[.-.1 b +£;r: +c“a*) : i, o
(d 70m
62. Bisut r @l & v Agaw F Il Y |
T Fad 73 B w1 e e R 7 65. F F T JEIA GFA Fhal @ 7
i
(a) # =f AT (a) 1980m
. (b) 2010m’
® Eﬁi : : (c) 2100m’
(c) 3/ =l e (d) 2240 m?®
(e Sl 66.%?%’&%‘9%&311?
63. TH 9 & U e AW Zrem ® AR (a) 14450
ﬁgﬂq@mmﬁymtlﬁ'ﬂ#ﬁ@ (b) 14480
g F34 & fou fuea afid =t et = (c) 14580
EAT B, Al ol A e R 7 (d) 14850
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67.

69,

70.

The wheels of a car are of diameter
80 em each. The car is travelling at a
speed of 66 kmhour. What is the
number of complete revolutions each
wheel makes in 10 minutes ?

(a) 4275
(b) 4350
(c)
(d)

4375
4450

What is the area of a triangle with sides
of length 12 cm, 13 cm and 5 cm ?

(a)
(b)
(©)
(d)

30 em®
35 cm’
40 cm®

42 cm?

If the perimeter of a circle is equal to
that of a square, then what is the ratio of
area of circle to that of square 7

(a) 22:7
(b) 14:11
ot Vi 5. 1.
(d)y 11:14

ABCDA 1is a con-cyclic quadrilateral of
a circle ABCD with radius » and centre
at O. If AR is the diameter and CD is
parallel and half of AB and if the circle
completes one rotation about the centre
(), then the locus of the middle peint of
CD is a circle of radius

ir
(@)

2r
(b) 3

SDC-S-TRD - A
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71.

T2.

73

2‘\'“33*
(c) 3
=
3
W 5

If 5inﬂ'+cusﬁ‘=%, then what 1s

sinf) — cosé equal o ?

(1) 0

1
(b) 3

(c) 1
@ 2

If sinx+sin®x=1, then what is the
4
value of cos'x + 2cos® + cos’x 7

(1) 0
(B) 1
(c) 2
(d) 4

A man from the top of a 100 m high
fower sees a car moving towards the
tower at an angle of depression 20°
Alfter some time, the angle of depression
becomes 60°. What is the distance
travelled by the car during this time ?

(2) 1003 m

(b) 2004/3 -
3
=
10043 o

(c) 3

(d) 20043 m



67.

68.

09,

70.

U H o weds afsd w80 em ® |
FR 66 kmaa f & = @ & | velw
aft 10 fmz # feaet s guf gl s
27
(a)
(h)
(t)
(d)

4275
4350
4375
4450

12 em, 13 cm 3 5 cm wwaTs & EEIE]
ATt e Bt =7 e feaar 2 7

(a) 30cm’

(b) 35cm’

(c) 40cm®

(d) 42 cm?

afe; o g9 #Y aitfy v =i 6 vfeny &
SRR R, @ 39 F SR 0, 79 % Sy
& ATE A T ERN 7

{1y 22:7

by 14:11

&y 7i2a

d 11:14

r = iR O = 91 0 99 ABCD
U USkgid IgHT ARCDAR | T7T AB

=W B, # CD S §9R R AR =1
ST © | At 99 ¥ OF I i v oA

T AR € A CDF weA g =+ forg,
forat Prem = v g & 2

(a)

(b)

'--llb-}" M|'¢'

21

71.

72.

73.

(c)

21.5!‘
3

i

~ 3r
I el
(d) 3

Tfe sind + CDSE=§ %, |t
sinf — cosf faie: sg@R & 7
{a) O

(b)

(c)
@ 2

Tfe sin x + sinx = 1%, at

cos’x + 2cos’x + cosx T A T R 7
(a) ©

(b) 1

e 2

(d) 4

100 m3H UF 241 & 9 & Us sirert 30°
HAAHT I € UF HR Dl 2EL Ft F1 ama
B @Al B | @ WG S0G, AGHA BT
60° €1 SaT & | 9 wHE A R g a9
it ot Tt & 7 '

10043 m

20043
3

1003

—m
3

20013 m

(a)

(b)

m

(c)
(@

A - SDC-S-TRD



" =4, Two men on either side of a tower 75 m (© 3
high observe the angle of elevation of
the top of the tower to be 30% and 60°. 4

: (d —=
What is the distance belween the two A2
men ?
(a) 10043 m 78. If A= sin’f + cos'® where 059{%,
then which one of the following is
®) ?Sﬁ » correct !
10043 (a) 1£4<2
¢ ——m
: 3
(b) S S4s1
(d) 6043 m
13
c) —=A=2
75. What is the value of © 16
cosec’G8® + sec’56° — cot'34° - tan'22” 7 3 13
(d) —s4s—
(a) 0 4 16
1 g L
Lol 79. What is cotA +cosec A1 equal to 7
© 1 cot A—cosec A+1
¥
l+cos A
a)
(fi) 2 ¢ sin 4
76. If 2y cos@ = x sinf and (b) l1—cos A4
2x scef) — v cosect = 3, -~ sind
i S 5
then what is x* + 4y Eﬂ,ua!. to 7 9 L+sin 4
(a) 1 " cosA
(ﬂ} 4 cos A
(d) 8 80. Consider the following :
1. sin 1° = sin 1°
77. If sinf + cos@ = H;@ where U{H{E, 2. cos 1° < cos 1°

o - L4
then what is tanf + cotf equal to? 3. tan 1% >an | :
Which of the above are mat correct ?
43 (a) 1 and 2 only

4

(b) 2 and 3 only

(a)

| (c) 1 and 3 only
() E {(d) 1,2and 3

SDC-S-TRD - A 22



74.

<€)

75.

76.

75 M3 UF 4 & g1 o0 @ g1 HTeE
2R % 9T & T99 S =1 30° 3 60°
w1 9 | &l sighEt & i F gl
Rt g 7

(1) 100+/3m

(b)

?515 m

10043
3

G{]«.ﬁ m

m

(d)
cosec 68° + sec’S6° — cot*34° — tan?22°
HIF #9T & 2

{a) 0

® 3
{c) 1
(dy 2
afe 2y cosf=x sing 4l

2x secl — y cosecA=1%,
al ¥ + 4y e s 8 7

(@ 1
(by 2

(c) 4

Th

(dy 8

1++/3

Ife sin@+ cosf= T, STar D-::H*i-;-rl

2, @l tan@ + col0 Tras sw=L 2 7

3

{a) 1

1
(b) Ny

23

78.

19.

80,

(© 3
Fil

i Sk
{}1,_—

Tl 4 =sin’0 cns“ﬂi,ﬁ'ﬁi{liﬂﬁgﬁ,
dt Freafafas # & =f7 @ v w9

(@) 1=4=2

(b) %Eﬁ‘il

) 13
(c -= A
) 16

1%
28]

1
1

L)

@

=A=

o
(=8

cot A +cosec 4—1 Frapr
AL B 7
col A —cosec A+1 B

l+cos A
sin A

(a)

1 —cm—‘:A
sin A

(b)

l+sm A
cos A

l—sin A
cos A

firefirfire T forere fife :

1. sin 1% > gin 1°

(©

(d)

2 ocos 1° = cos 1°
3. tan 1° > tan 1°

ITTH H F FA A GEl TET & 7
{(a) F=e 1 ak 2
(b) = 2 A 3
(c) ad | 3K 3
(d 1,2 33

" A - SDC-S-TRD



81.

82.

83.

If tan3x+—-12—=2 and (° < x-<90°,
n~x

then what 15 the value of x?
(a) 15°
(b) 30°
(c) 45°

{d) 60°

If the length of the shadow af a tower is
equal to its height, then what is the Sun’s
altitude at that time ?

(a) 15°
(b) 30°
(c) 45°

(d) 60°

Consider the following :

p, Gos 73" sin 12° cos 18°
sin 15° cos 78° sin 72°

5 C€O8 ase i gin 11°

gin 55°  cos 79"
cos 28% cosec 62°=1
H o
& -S“-: Eli" —sin 59° sec 319=0
C0s

Which of the above are correct 7

(a)
(b) 2 and 3 only

1 and 2 only

(c)
(d) 1,2and?3

1 and 2 only

SDC-S5-TRD — A
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B, A

85,

B6.

pole stands vertically inside a
triangular park ABC. If the angle of
elevation of the top of the pole from
each corner of the park is same, then
the triangle ARC, the foot of the pole 1s
at the

(a) Centroid
(b) Circumference
(¢) Incentre

(d) Orthocentre

What 15 the value of
tanl®tan2*tan3%tan4d” . . . ank9" ?

(a) 0
(b) 1

(c) 2

@ 3

The average score of class X is 83.
The average score of class ¥ is 76.
The average score of class 7 is 85.
The average score of class X and Y15 79
and average score of class Yand Z s 81.
What is the average score of X, Yand 27

(a) 815
{b) 805
() 790

(d) 780



B1.

82.

83.

=2 R 0% < x < H)° E,

Eiﬁ 131'12.1:4' 3
fan™x

T FTHE 991 2 7
(a)

(b) 300
{c) 45°

147

d 60°

afy etz &t s f wa Sed
AT & R § W os® wwa W g w6
Faaiy faraa g 7

(a) 15°
(b) 30°
(c) 45°
d 60°

frrerferfas w fomm Siform

cos 75°
1 +

" min 15°

sin 12°

cos 78°

cos 18° _
gin 72°

cos 357 B sin 117
sin 55°  cos ¥9°

cos 28% cosec A2°=1

3 o
;n—?g-t-_—sin 59° soc 31°=0
3

T A A T A TR E 7
(a) a9 1 3R 2
(b) eet 2 3R 3
(¢) el | 1K 3

3

(d 1,2 3K 3

25

84. T Frmita o (Fe) ABC F e u

BS.

86.

-

w9 gt gEr e | T T F T T
T o 911 ] Al E Y U B,
1 B ABCH W R IR FEI W R 7

(a) s

() wifir

(© @@ ¥

(d) = g

tan1® tan2® tan3° tand? , . . tan89° T AW
TR

(a) 0

(b) 1

(c) 2

@ 3

F X F it o 838 | @en ¥ & oftwa
3 76§ | HAT Z o 3itea A= 85 T | e
X 3 e ¥ & #t|a siw 79 €, 3 e
¥ 3R Fem Z & sima 6% 818 | X, Yaik
Z 1 e o 9T e 7

(a) 81.5
805
(c) 790
) 780

A - SDC-8-TRD



87,

28,

89,

90.

For x>0, if a variable takes discrete
valuesx+ 4, x =35, x—-2-5 x -3, x -2,
x+05 x=05, x+5, then what is the
median 7

{a) x—125
(b) x—0:5
(c) x+0:5
(d) x+1.25
The median of szet of 9 distinct
observations iz 20-3. If each of the
largest 4 observations of the sel is

increased by 2, then the median of the
new set

(a)
(b)
(c)
(d)

ig increased by 2

is decreased by 2

is two times the original median
remazing Lhe same as that of original

sel

A cricketer has a certain average of
10 innings. In the eleventh inning he
scored 108 runs, thereby increasing his

average by & tuns. What is his new

average /
(a)
(b)
(c)
(d)

42
47
48
60

The mean of 20 observations is 17.
On checking 1t was found that the two
observations were wrongly copied as
3 and 6. If wrong observations arc
replaced by correct values 8 and 9, then
what is the correct mean ?

SDC-5-TRD - A

26

91.

92.

93.

(a) 17-4
(h)
(©)

(d)

16-6

158

1432

Number of credit cards held by an
individual can be treated as

{a) Qualitative data

(b) Discrete data

()
(d) WNone of the above

Categorical data

In a class of 100 students, there are
70 boys whose average marks in a
subject are 75. If the average marks of
the complete class is 72, then what is the
average marks of the girls ?

(a)
(b)
(c)
(d)

64
65
11
74
A pie chart depicts the classification of
total funds of an organization according
to different sources of funds. A particular
sector of pie chart for corporate tax has
108" angle al' the centre. What is the

percentage ol income from corporate tax
to total funds ?

(8) 20%
(b) 25%
(c) 30%
(@ 35%



87.

88.

89.

9.

x> 0% form, af v ==, fafaws v x + 4,
r—35 x~-2.5 x-3 x-2, x+05
x—0:5, %+ SeAT R, O ATEhHT Fa7 & ?
(&) x- 125
(b) x-0-5
{c) x+05

(d) x+1:25

9 T WRIUTT o HH=ad S AT 20-5 8 |
af wa=T F 4 7w =g A 7 & v
Wi 2 st A =g A e 41 9 weee 6
AT

@ 28T e
(b) 28 = W @

(c) T wfer &1 g 2

(d) 7 ag=a8 & "l & 6 e 9
et ®

s faede faandt 1 10 wlimt F1
Fivam st 2 =eedt ol F e
108 = =1, Forms goen s 6 11 =
T | SHEH AT Aea T R P

(@) 42

(b) 47
{c) 48
(d) o0

20 WETOT K WET 178 | AH FA W AR
o T T T et w0 (e 9) 3 S 6%
&Y ¥ Werd FART T 97 | Al T S
I T T8 A 83K 9@ fa W €, @t
e AT =R ?

27

91.

92,

93.

(a) 17-4
(b)
(c)

(d)

16-6
15-8
14-2

v T 0
menas fraeq d wrmsmawaT & ¢

(a) T T
(b) Tafaes e
(c) "afifa aw
(@) I & & i 7

100 FErnféfat it o wen # 70 w25 2,
o v fawg g &% 758 ) afe
Hegul et % ot o 728, 9 gl &
e s FFaa € 7

(&) 64

(b) 65

{c) 68

d 74

% A, et @ i gw il %

it wit frftwt & fafia it & g
ST 8 | T R fore geed v
Fordre &=, S T 108° =1 197 =TT 2 |
wAt A g iy & fmoaw
I GEI G o -

(a)
(b)
(c)
(d)

20%
25%
30%
35%
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94. Consider the following statements : {c) 3

1. The classes of type 15-19, 20-24, (d) 0
25-29 etc, are exclusive classes.

2. The classes of type 15-20, 20-25, 08. What is the difference between the sum
253 ete. are inclusive classes. of the cubes and that of squares of first

ten natural numbers 7
Which of the ahove statcments isarc

correct 7 {a) 2280
(a) 1 only (b) 2640
(b) 2 only ' (c) 3820
(¢) Both 1 and 2 (d) 4130

(d) Meither 1 nor 2 .
99, A motorisi fravels to a place 150 km

away at an average speed of 50 lan/hour
and returns at 30 km'hour. What is the
average speed for the whole journey ?

95. Suppose the class interval 10-15 has
frequency 30, then what is the frequency
density of this class interval ?

@) 2 . (a) 35 km‘hour
(b) 3 (b) 37 km/hour
(€) 5 (c) 37-5 km'hour
(d) 6 (d) 40 km/hour

96. Let § be a set of first ten natural 1 ,
numbers. What is the possible number of 100. If x+ 7 =2, then what is x

pairs (a, b) where a, b = Sand a = b 1-I~—1
such that the product ab (>12) leaves 2+§
remainder 4 when divided by 12 ?
equal 1o 7
(a) 4
7
h) 6 i
(b) (a) 10
(c) 8
: 13
(d) 10 ®) T
97. What is the remainder when 1
13%+14°+15°+16" is divided by 29 7 © 1o
(a) 8 o 17
(b) 5 10
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94.

95.

96.

97.

Ffetiaa waat w fam Fifimo .
1. 15-19, 20-24. 25-20 anf w&R
& 7if, Fyatfa =i & |

2. 15-20, 20-25, 25-30 sy ¥R
& =, aiaaE =9 ¢ |

Iwden # & F A/ e w2/ ¢

(a) &1

(b) w2

() 1 3k 2 75mt

) FLTE 2

ait wifon f& o smwe 10-15 &
FRARAT 30 B, o W I e &
TRARAT T T & 7

(a) 2

(b) 3

(¢} 5

d 6

W g £5 S5, o 7 el wemsit @
U WA © | g1 (a, b) & dw1fad wem
TN, T ahe SR azhT=RE H
A% ab (>12) F 128 Fmfm ==
R 4 AT R 7

(a) 4

M 6

(c) 8

(d .10

13%+14°415%+16"° &1 29 @ o o
S 0 S T R & 7

(a) 8
b) 3

29

8.

99,

100, 9f% x +

(©) 3
@ 0

WA GH Sl HETE & HAT % G a
Tk T o AT o S R Fe R
Brar # 7
(a) 2280
(b) 2640
(c) 3820
(d) 4130

T Hie Tres 150 TRt e i
gran 50 faft /a2 ft sfma ofs G T 2
3t 30 fopeft /2 oft fy & e & | wepei
aran % oo sitee wfa frae & 2

(a) 35 km/9ea
(b) 37 km/g2
(¢) 37:5 km/H=2T
(d) 40 km/¥

=28

1+—'-!'T
24—
3

at x e R 2 |

i
10
13
10

H
10

(a)

®)

(c)

17

(d) 0
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SPACE FOR ROUGH WORK
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10.

sraaT
e WS B ¥ Ao wiE, A zE whem qfer € vsaw qavg = § B ooed w e
T, WET AT EY BT U5 A=y wowtar annfr 7 g | A v B, o @ wh whww g A wm A
T s w6 iR OMR wwe-were &, S wamm o, e e o whaw gt 3999 A, B, W
D =1, s & v fare firet s foreifa & wed st emg W o frdeeh wefeam fr ) feh
ity ot =/ Frmnf O ety # gww-vms fee s faan sma
T Te TR WA § f§ T weew § et
AT FTHATE T @ | T e 9 S e
= ford |
i ol G 1 100 vy () e e # | wehe wete R ol sttt 2T o T R | el wae
3 = g (voe) R e € | o R O g A 99 o, B o g W T e awd @
afe ame) Den Al T v A aifie wogee w2 E, o 96 wegek 1 sl S o s wETes @ | W
Wiy % fro Sw e F v g
AT AT T WegeR A @ Fi T Se-ueE o A o € | aeowae i fag g fd 3 |
weft w3 T
ol vedt T s whem e & fifing wwid & aeer Se-Tas W afEn s aE o, el
T & A i agiel & agun g9 fe se-us § a3 E )
39 O WA MOl w1 S9-Es # WA AT 991 T & W W e gew-vas At = i
B | =9et w9 & s gt & W d e #
F FH & T o o g & s # den ¥
aEfes nyA-ul 8 FeiEaw g e g wem e % fem ve fay s
(i) W e forn 9 3 o € | Iufieer o vl wse S T fam e o e ae & fey
7 2 form fg o o=t = ve-firerd oo % v F W W |
(i) =fs Frf FrfeaR 1F @ At I 3 L, Gt o wee wee w0 ST, e fim o e A e
T I we 2, R it 9w we & fo awdemran @ el axe 1 e G s |
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et = foo g gem w9 fom s |

WA AF ATTHT TE THUT JIErdr Gtad St 7 FE 00 79 7 7 @i

Note : English version of the instructions 1s printed on the front cover of this Booklet,





